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15> CTHRAMICHN L TEEENMEVWE (2,1) oRZENH
5 4 3 2 1 I EZ=
IREI_=BbAERBELE LD 0 1 0 0 0 0| 4.0
SEEICEBWMISMLE L= 0 [ 0 0 0 0] 4.0
BARITEEENE DT LA 0 0 0 1 0 0] 2.0
TV EHPREIDREMC LD, 0 [ 0 0 0 0] 4.0
T FEDBERECHT 2xald 1 0 0 0 0 0] 5.0
BHEEN=ROB=0d 1% [ 0 0 0 0 0] 5.0
T4 EFNERE & DREAIE 0 0 0 0 1 0] 1.0
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2019 AT BET7 7 — KEHERGER)

BEFKRF

B2 (1) XEEER = KEH BEER 37
FR - FE |014 HAZE - HAXFE FEF R [ELS [EIE 31 %
%HE EES 173 EIES 83.8%
e 23131 EXTEEl - a (2461121 >a)
BEEAEESE (AL TE)
5 4 B8 2 1 0 | 5 |24Es
TSINAERRLE LD 12| 14 3 1 1 ol - -
IBE - bAERBELE LD 18 9 2 2 0 o[ - -
SEECEBNBICSMLE LA 5] 18 7 1 0 ol - -
I Chh b OBERROE S - bRk 71 12 6 1 2 0] 36 | 41
S RERNARYINABY LM 17 8 6 0 0 0] 44 | 42
BARITHEEENS DT LA 5] 13 7 3 3 0] 35 | 42
TECECOVELDRERTIT A 7R 6 6 0 1 - -
SBRENESEEZVANT LD 5[ 19 7 0 0 o[ - -
CREDRERLLNTLED 1 5] 22 2 1 ol - -
T0EHPEEIDENC LD, 2 7 2 [ 0 o[ - -
T ZENREREICNT b ialE 11 12 7 1 0 0] 41| 43
BB FEREI-GCE LA 6] 11] 14 0 0 0] 3.7 | 42
BHEEN=ROB=Pd =IF ol 14 3 4 1 0] 38 | 43
T4 B RRG & DAL 3 15 3 3 [ 34 [ 43
REIBECED DT LED 6] 16 5 3 1 0] 3.7 | 44
<> THRAMNICHN L TCEREASWVE G4) oRZESH
5 4 3 2 1 [ EZ=
IBE = bAEBBELE LD 15 5 1 1 0 0| 45
SEEICEBWMISMLE L= 2 15 2 [ 0 0] 4.0
BARITEEENE DT LA 5] 12 4 1 0 0| 4.0
0 EHPEREIDENC LD, 18 3 0 [ 0 ol 4.7
T ZENREREICNT b ialE 9] 10 3 0 0 0| 43
BHEEN=ROB=0d 1% sl 11 [ 2 0 0] 4.1
T4 EFHEME & DR IE 3| 14 4 0 0 1] 38
<> CHRAMICHN L TEREEMNMEVLE (2,1) oRZENH
5 4 3 2 1 I EZ=
IREI_=BbAERBELE LD 1 2 1 0 0 0] 4.0
SEEICEBWMISMLE L= 0 2 2 0 0 0] 35
BARITEEENE DT LA 0 0 0 2 2 0| 1.5
TV EHPREIDREMC LD, 2 2 0 0 0 0] 45
T ZENREREICNT b ialE 1 1 1 1 0 0| 35
BHEEN=ROB=0d 1% [ 0 0 2 [ 0] 25
T4 EFNERE & DREAIE 0 1 0 2 1 0] 23
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B2 (1) XEEER = AEH BEER 34
FR - FE |014 HAZE - HAXFE R R B [EIE 20 &
%HE EES 551 EIES 58.8%
#E 23301 BAXZEA (23311 BAXEZED)
BEEAEESE (AL TE)
5 4 B8 2 1 0 | 5 |24Es
TSINAERRLE LD 0] 4] 4 0 2 ol - -
IBE - bAERBELE LD 4 11 5 0 0 o[ - -
SEECEBNBICSMLE LA 3 12 5 0 0 ol - -
I Chh b OBERROE S - bRk 3 13 2 [ [ 0] 3.8 | 41
S RERNARYINABY LM 10 5 5 0 0 0] 43 | 42
BARITHEEENS DT LA 7 3 4 [ 0 o 41 | 42
TECECOVELDRERTIT A 2] 16 1 4 0 ol - -
SBRENESEEZVANT LD [ sl 11 0 0 o[ - -
CREDRERLLNTLED 1 3|16 0 0 ol - -
T0EHPEEIDENC LD, 17 [ [ [ 0 o[ - -
T FENBERECHT 2xald 11 5 3 1 0 0] 43 | 43
BB FEREI-GCE LA 12 5 3 0 0 0 45 | 42
BHEEN=ROB=Pd =IF 10 6 2 2 0 0] 42 | 43
T4 B RRG & DAL 7] 10 2 [ 0 o[ 42 | 43
REIBECED DT LED 11 6 2 1 0 0| 44 | 44
<> THRAMICHN L TEREASWVE G4) oRZENH
5 4 3 2 1 I EZ=
IREI_=BbAERBELE LD 4 9 4 0 0 0] 4.0
SEEICEBWMISMLE L= 3 _10] 4 0 0 0] 3.9
BARITEEENE DT LA 7 8 2 0 0 0| 43
0 EHPEREIDENC LD, 15 0 [ [ 0 ol 4.7
T FEDBERECHT 2xald 0] 4 2 1 0 0| 44
BHEEN=ROB=0d 1% 10 5 [ [ 0 0| 44
T4 EFHEME & DR IE 7 9 1 0 0 0| 44
<> CHRAMICHN L TEREEANMEVLE (2,1) oRZENH
5 4 3 2 1 I EZ=
IREI_=BbAERBELE LD 0 1 0 0 0 0] 4.0
SEEICEBWMISMLE L= 0 [ 0 0 0 0] 4.0
BARITEEENE DT LA 0 0 0 1 0 0] 2.0
TV EHPREIDREMC LD, 0 [ 0 0 0 0] 4.0
T FEDBERECHT 2xald 1 0 0 0 0 0] 5.0
BHEEN=ROB=0d 1% 0 0 0 [ 0 0] 2.0
T4 EFNERE & DREAIE 0 0 0 1 0 0] 2.0
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BEFKRF

B2 (1) XEEER = AEHR BEER 38
27 - EE |014 HARE - HAXEFR FEF R VETS [EIE 34 %
%HE EES 374 EIES 89.5%
#E 23361 HEZEXREEA - a
BEEAEESE (AL TE)
5 4 B8 2 1 0 | 5 |24Es
TSINAERRLE LD 5] 12 6 0 1 ol - -
IBE - bAERBELE LD 20 12 2 0 0 o[ - -
SEECEBNBICSMLE LA 4] 16 3 1 0 ol - -
I Chh b OBERROE S - bRk 18] 13 3 0 0 o 44 | 41
S RERNARYINABY LM 17|15 2 0 0 0] 44 | 42
BARITHEEENS DT LA 6] 14 3 0 [ 0] 43 | 42
TECECOVELDRERTIT A 5] 28 1 7 1 1 - -
SBRENESEEZVANT LD [ 8| 24 [ 0 o[ - -
CREDRERLLNTLED 0 3] 29 2 0 ol - -
T0EHPEEIDENC LD, 27 3 2 2 0 o[ - -
T FENBERECHT 2xald 18] 10 6 0 0 0] 44 | 43
BB FEREI-GCE LA 0] 10| 14 0 0 0] 3.9 | 42
BHEEN=ROB=Pd =IF 23 7 3 1 0 0] 45| 43
T4 B RRG & DAL 18] 11 5 0 0 o] 44 | 43
REIBECED DT LED 18] 12 4 0 0 0| 44 | 44
<> THRAMICHN L TEREASWVE G4) oRZENH
5 4 3 2 1 I EZ=
IBE = bAEBBELE LD 2010 0 0 0 0| 4.7
SEEICEBWMISMLE L= 4] 14 [ [ 0 0| 44
BARITEEENE DT LA 6] 13 0 0 1 0| 44
0 EHPEREIDENC LD, 26 2 0 2 0 ol 4.7
T FEDBERECHT 2xald 17110 3 0 0 0| 45
BHEEN=ROB=0d 1% 22 7 0 [ 0 ol 4.7
T4 EFHEME & DR IE 18] 11 1 0 0 0| 46
15> CTHRAMICHN L TEEENMEVWE (2,1) oRZENH
5 4 3 2 1 I EZ=
IBE = bAEBBELE LD 0 0 0 0 0 0] 0.0
SEEICEBWMISMLE L= 0 0 0 0 0 0] 0.0
BARITEEENE DT LA 0 0 0 0 0 0] 0.0
TV EHPREIDREMC LD, 0 0 0 0 0 0] 0.0
T FEDBERECHT 2xald 0 0 0 0 0 0] 0.0
BHEEN=ROB=0d 1% 0 0 0 0 0 0] 0.0
T4 EFNERE & DREAIE 0 0 0 0 0 0] 0.0
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2019 AT BET7 7 — KEHERGER)

BEFKRF

B2 (1) XEEER = AEHR BEER 15
FR - FE |014 HAZE - HAXFE R IR B [EIE 12 %4
%HE EES 351 EIES 80.0%
#E 23381 HAZEXRE D - a
BEEAEESE (AL TE)
5 4 B8 2 1 0 | 5 |24Es
TSINAERRLE LD 3 6 1 2 0 ol - -
IBE - bAERBELE LD 5 5 2 0 0 o[ - -
SEECEBNBICSMLE LA 3 7 2 0 0 ol - -
I Chh b OBERROE S - bRk 3 3 [ 0 0 o] 42 | 41
S RERNARYINABY LM 5 5 2 0 0 0] 43 | 42
BARITHEEENS DT LA 2 3 2 0 0 0 40 | 42
TECECOVELDRERTIT A 2 5 8 0 1 ol - -
SBRENESEEZVANT LD 0 3 9 0 0 o[ - -
O BREDEEENAACTLED 0 ol 12 0 0 ol - -
T0EHPEEIDENC LD, 10 0 [ 0 [ o[ - -
T FENBERECHT 2xald 4 5 2 0 0 1] 38 [ 4.3
BB FEREI-GCE LA 4 2 4 0 0 2] 33 | 42
BHEEN=ROB=Pd =IF 9 3 0 0 0 0] 48 | 43
T4 B RRG & DAL 6 5 [ 0 0 o] 44 | 43
REIBECED DT LED 5 7 0 0 0 0| 44 | 44
<> THRAMNICHN L TCEREASWVE G4) oRZESH
5 4 3 2 1 [ EZ=
IREI_=BbAERBELE LD 5 5 2 0 0 0| 43
SEEICEBWMISMLE L= 3 7 2 0 0 0] 4.1
BARITEEENE DT LA 2 8 2 0 0 0| 4.0
0 EHPEREIDENC LD, 10 0 [ 0 [ 0] 45
T FEDBERECHT 2xald 4 5 2 0 0 1] 38
BHEEN=ROB=0d 1% 9 3 0 0 0 0| 48
T4 EFHEME & DR IE 6 5 1 0 0 0| 44
5> CHRAMICHN L TEREEANMEWVLE (2,1) oRZENH
5 4 3 2 1 I EZ=
IBE = bAEBBELE LD 0 0 0 0 0 0] 0.0
SEEICEBWMISMLE L= 0 0 0 0 0 0] 0.0
BARITEEENE DT LA 0 0 0 0 0 0] 0.0
TV EHPREIDREMC LD, 0 0 0 0 0 0] 0.0
T FEDBERECHT 2xald 0 0 0 0 0 0] 0.0
BHEEN=ROB=0d 1% 0 0 0 0 0 0] 0.0
T4 EFNERE & DREAIE 0 0 0 0 0 0] 0.0
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2019 AT BET7 7 — KEHERGER)

BEFKRF

B2 (1) XEEER = KEH BEER 19
27 - EE |014 HARE - HAXFER FEF R [ELS [EIE 16 %
%HE EES 757 EIES 84.0%
£l E 23401 ERE
BEEAEESE (AL TE)
5 4 B8 2 1 0 | 5 |24Es
TSINAERRLE LD 6] 10 0 0 0 ol - -
IBE - bAERBELE LD 7 5 2 2 0 o[ - -
SEECEBNBICSMLE LA 7 7 2 0 0 ol - -
I Chh b OBERROE S - bRk 7 3 [ 0 0 o 44 | 41
S RERNARYINABY LM 12 4 0 0 0 0] 48 | 42
BARITHEEENS DT LA 3 6 2 0 0 o 44 | 42
TECECOVELDRERTIT A 1 14 0 2 1 ol - -
SBRENESEEZVANT LD 0 3 3 0 0 o[ - -
CREDRERLLNTLED 1 6 9 0 0 ol - -
T0EHPEEIDENC LD, 14 [ 0 [ 0 o[ - -
T FENBERECHT 2xald 13 2 0 0 1 0] 46 | 43
BB FEREI-GCE LA 13 2 [ 0 0 0] 48 | 42
BHEEN=ROB=Pd =IF 13 3 0 0 0 0] 48 | 43
T4 B RRG & DAL 3 3 0 0 0 0 45 | 43
REIBECED DT LED 9 6 1 0 0 0] 45 | 44
<> THRAMNICHN L TCEREASWVE G4) oRZESH
5 4 3 2 1 [ EZ=
IREI_=BbAERBELE LD 7 5 1 2 0 0] 4.1
SEEICEBWMISMLE L= 7 7 [ 0 0 0| 44
BARITEEENE DT LA 8 6 1 0 0 0| 45
0 EHPEREIDENC LD, 13 [ 0 [ 0 ol 4.7
T FEDBERECHT 2xald 12 2 0 0 1 0| 46
BHEEN=ROB=0d 1% 13 2 0 0 0 0] 4.9
T4 EFHEME & DR IE 8 7 0 0 0 0| 45
5> CHRAMICHN L TEREEANMEWVLE (2,1) oRZENH
5 4 3 2 1 I EZ=
IREI_=BbAERBELE LD 0 0 0 0 0 0] 0.0
SEEICEBWMISMLE L= 0 0 0 0 0 0] 0.0
BARITEEENE DT LA 0 0 0 0 0 0] 0.0
TV EHPREIDREMC LD, 0 0 0 0 0 0] 0.0
T FEDBERECHT 2xald 0 0 0 0 0 0] 0.0
BHEEN=ROB=0d 1% 0 0 0 0 0 0] 0.0
T4 EFNERE & DREAIE 0 0 0 0 0 0] 0.0
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2019 AT BET7 7 — KEHERGER)

BEFKRF

B2 (1) XEEER = $HEH BEER 73
FR - FE |014 HAZE - HANXFE R R IV & [EIE 65 £
%HE EES 656 EIES 89.0%
£l E 23451 HAZEZMzm a (24631HAZEFH#®ma)
BEEAEESE (AL TE)
5 4 B8 2 1 0 | 5 |24Es
TSINAERRLE LD 31 20 10 3 1 ol - -
IBE - bAERBELE LD 31| 28 6 0 0 o[ - -
SEECEBNBICSMLE LA 22 26 13 4 0 ol - -
I Chh b OBERROE S - bRk 15| 26| 16 7 [ 0] 3.7 | 41
S RERNARYINABY LM 23] 26 15 1 0 0] 41| 42
BARITHEEENS DT LA 11| 28] 15 9 2 0] 36 | 42
TECECOVELDRERTIT A 4 44| 4 17 3 4 - -
SBRENESEEZVANT LD 10| 32 23 0 0 o[ - -
CREDRERLLNTLED 4 5] 52 4 0 ol - -
T0EHPEEIDENC LD, 20 12 1 5 2 A -
T FENBERECHT 2xald 29[ 23 8 5 0 0] 42 | 43
BB FEREI-GCE LA 25 19[ 20 [ 0 0] 40 | 42
BHEEN=ROB=Pd =IF 22 20 10 17 2 0] 38 | 43
T4 B RRG & DAL 9] 22 13 7 4 0] 3.7 | 43
REIBECED DT LED 19 29| 11 4 2 0] 39 | 44
<> THRAMICHN L TEREASWVE G4) oRZENH
5 4 3 2 1 I EZ=
IBE = bAEBBELE LD 25 20 3 0 0 0| 45
SEEICEBWMISMLE L= 20 21 6 [ 0 0| 43
BARITEEENE DT LA 11| 26 7 4 0 0] 3.9
0 EHPEREIDENC LD, 35 6 o[ 4 [ 2] 43
T FEDBERECHT 2xald 24 21 2 1 0 0| 44
BHEEN=ROB=0d 1% 20 18 6 4 0 0] 4.1
T4 EFHEME & DR IE 19| 22 6 1 0 0| 42
15> CTHRAMICHN L TEEENMEVWE (2,1) oRZENH
5 4 3 2 1 I EZ=
IREI_=BbAERBELE LD 3 3 0 0 0 0| 45
SEEICEBWMISMLE L= 0 3 0 3 0 0] 3.0
BARITEEENE DT LA 0 1 2 2 1 0| 25
TV EHPREIDREMC LD, 2 2 2 0 0 0] 4.0
T FEDBERECHT 2xald 2 1 1 2 0 0| 35
BHEEN=ROB=0d 1% 0 [ [ 3 [ 0] 23
T4 EFNERE & DREAIE 0 0 0 3 3 0| 15
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2019 AT BET7 7 — KEHERGER)

BEFKRF

B2 (1) XA =] JKEEH BEER 88
FR - FE |014 HAZE - HANXFE R R B [EIE 72 %
%HE EES 751 EIES 81.8%
£l E 23471 HAXZH@ma (24651 BARAXZ W a)
BEEAEESE (AL TE)
5 4 B8 1 0 | 5 |24Es
TSINAERRLE LD 21 33[ 10 5 2 1 - -
IBE - bAERBELE LD 5] 16 9 [ 0 1 - -
SEECEBNBICSMLE LA 20 36 13 2 0 1 - -
I Chh b OBERROE S - bRk 10| 39] 18 2 2 137 [ 41
S RERNARYINABY LM 26| 35 9 1 0 1 42 [ 42
BARITHEEENS DT LA 23 35[ 10 2 [ T[40 [ 42
TECECOVELDRERTIT A 7] 43 4 15 5] - -
SBRENESEEZVANT LD 5] 35| a1 0 0 1 - -
CREDRERLLNTLED o 28] 32 2 0 1 - -
T0EHPEEIDENC LD, 58 3 3 0 2 1 - -
T FENBERECHT 2xald 23] 36 9 2 1 1 40 [ 43
BB FEREI-GCE LA 25 26 20 0 0 T[40 [ 42
BHEEN=ROB=Pd =IF 14| 24 3 0 0 1| 45 [ 4.3
T4 B RRG & DAL 30 27 9 3 2 41 [ 43
REIBECED DT LED 33 24 12 1 1 42 [ 44
<> THRAMICHN L TEREASWVE G4) oRZENH
5 4 3 1 I EZ=
IBE = bAEBBELE LD 39 12 5 1 0 0| 46
SEEICEBWMISMLE L= 9] a1 6 [ 0 o] 4.2
BARITEEENE DT LA 23] 32 1 1 0 0| 44
0 EHPEREIDENC LD, 51 4 0 0 2 0] 48
T FEDBERECHT 2xald 9] 31 6 1 0 0| 42
BHEEN=ROB=0d 1% 39 17 [ 0 0 ol 4.7
T4 EFHEME & DR IE 30 23 4 0 0 0| 45
15> CTHRAMICHN L TEEENMEVWE (2,1) oRZENH
5 4 3 1 I EZ=
IREI_=BbAERBELE LD 1 1 0 0 0 0| 45
SEEICEBWMISMLE L= 0 0 2 0 0 0] 3.0
BARITEEENE DT LA 0 0 1 0 1 0] 2.0
TV EHPREIDREMC LD, 0 2 0 0 0 0] 4.0
T FEDBERECHT 2xald 0 1 1 0 0 0| 35
BHEEN=ROB=0d 1% 0 [ [ 0 0 0] 35
T4 EFNERE & DREAIE 0 0 1 0 1 0] 2.0
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2019 AT BET7 7 — KEHERGER)

BEFKRF

B2 (1) XEEER = AEHR BEER 41
FR - FE |014 HAZE - HAXFE R R B [EIE 33 %
%HE EES 353 EIES 80.5%
#E 23521 BAETEHIB - a (24601 HEAEZHEB-a)
BEEAEESE (AL TE)
5 4 B8 2 1 0 | 5 |24Es
TSINAERRLE LD 16] 14 1 2 0 ol - -
IBE - bAERBELE LD 8] 14 9 [ [ o[ - -
SEECEBNBICSMLE LA 13| 13 6 1 0 ol - -
I Chh b OBERROE S - bRk 8| 20 4 [ 0 o 41 [ 41
S RERNARYINABY LM 16] 10 6 1 0 0] 42 | 42
BARITHEEENS DT LA 13| 15 3 2 0 o] 42 | 42
TECECOVELDRERTIT A 2] 19| 16| 16 4 ol - -
SBRENESEEZVANT LD 2] 13] 18 0 0 o[ - -
CREDRERLLNTLED 0 5] 28 0 0 ol - -
T0EHPEEIDENC LD, 32 [ 0 0 0 o[ - -
T FENBERECHT 2xald 18] 12 3 0 0 0] 45 | 43
BB FEREI-GCE LA 9] 13 [ 0 0 0 45 | 42
BHEEN=ROB=Pd =IF 9] 13 1 0 0 0] 45 | 43
T4 B RRG & DAL 5] 13 3 2 0 o[ 42 | 43
REIBECED DT LED 18] 12 2 1 0 0| 44 | 44
<> THRAMICHN L TEREASWVE G4) oRZENH
5 4 3 2 1 I EZ=
IBE = bAEBBELE LD 8| 13 7 1 1 0] 3.9
SEEICEBWMISMLE L= 3] 12 5 0 0 0| 43
BARITEEENE DT LA 13| 14 2 1 0 0| 43
0 EHPEREIDENC LD, 30 0 0 0 0 0] 5.0
T FEDBERECHT 2xald 6] 11 3 0 0 0| 44
BHEEN=ROB=0d 1% 18] 11 [ 0 0 0| 46
T4 EFHEME & DR IE 15| 13 1 1 0 0| 44
<15 CTHRAMICHN L TEEENMEWVWE (2,1) oRZENH
5 4 3 2 1 I EZ=
IBE = bAEBBELE LD 0 0 1 0 0 0] 3.0
SEEICEBWMISMLE L= 0 0 0 [ 0 0] 2.0
BARITEEENE DT LA 0 0 0 1 0 0] 2.0
TV EHPREIDREMC LD, 0 [ 0 0 0 0] 4.0
T FEDBERECHT 2xald 0 1 0 0 0 0| 4.0
BHEEN=ROB=0d 1% 0 [ 0 0 0 0] 4.0
T4 EFNERE & DREAIE 0 0 0 1 0 0] 2.0
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2019 AT BET7 7 — KEHERGER)

BEFKRF

B2 (1) XEEER = KEH BEER 16
FR - FE |014 HAZE - HAXFE FEF R [ELS [EESS 14 %
%HE EES 352 EIES 87.5%
(5] 23541 HAETESIC - a Q4/11BABZHEC-a)
BEEAEESE (AL TE)
5 4 B8 2 1 0 | 5 |24Es
TSINAERRLE LD 4 7 2 0 1 ol - -
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